MAP 4175/ 5177 Name:
Quiz 10 — Take Home Date: November 15, 2017 — Due on November 16, 2017

Show all work for full credit, and use correct notation. Simplify answers completely.
A 4-state model has states: Healthy (0), Sick (1), Dead (2), and Terminally IlI (3).

The transition intensities are;
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4. Given ;P30 = 0.943363 and ;,p3¢ = 0.007833, determine ;p39.
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5. Use Euler’s Forward Equation with a step size of 0.125 to approximate the value of ;4 ;,5p33.

Em ~(EARY = ()¢ he v ()

(>~}

vt = P,
t=(o - - L
h=06.038 = loa.< th T P&o + 18 IDPTSD
= 443363 + 125 (-0.00733+)

00
L ;o,zas)?sb = D Olklak/‘tl



